AN ‘/“‘VA%‘ .
Y «%r "‘“;.gi A8 43 B INE DY R A

w4 H 391

1 1 1
55+31%x3+20x - +4= 45+4x - =2+3x =
3 2 2

39—32x4+20x%+5= %—%x4—39=

56+%+SXé= %+44—4x%=

44—6X%+2—3XZ5= 5—%x2—%=
3 3 34-2x2-42=

29-2x3-20x2+4=
2 2

www.snowmath.com

ﬁ]\

.



https://www.snowmath.com

418 73 BN DY R E 5

. H vag L&
1 247 7 1 1
S+31 +20x =+4=—=16— 45+4x - =2+ _ =
55+3.1x3 O><3 T 615 5 ><2 3><2 7

3.9—32 x4+ 20 x %+5=(—%9)-)=(—6%) %—% x4—3.9=(—%)=(—5%)
5.6+%+5Xé=%=7% %+4.4—4x§=§=2;1
4.4—6><%+2—3><2.5=(—25—3)=(—4%) 5—§x2—§=§=2é
2.9—%x3—20x%+4=(—%)=(—9%) 3.4—2><2—4.2=(—2—:-)=(—4§)

www.snowmath.com


https://www.snowmath.com

